Asian Research Journal of Mathematics

5(4): 1-7, 2017; Article no.ARJOM.35514 *ISSN: 2456-477X*



On Generalization of a Reverse Hilbert's Type Inequality

Gaowen \mathbf{Xi}^{1^*} and Zhengping \mathbf{Zhang}^1

¹College of Mathematics and Physics, Chongqing University of Science and Technology, Chongqing, 401331, P. R. China.

Authors' contributions

This work was carried out in collaboration between both authors. Author Xi designed the study, performed the analysis, wrote the protocol and wrote the first draft of the manuscript. Author Zhang proof read the manuscript and effected the corrections. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/ARJOM/2017/35514 <u>Editor(s)</u>: (1) Andrej V. Plotnikov, Department of Applied and Calculus Mathematics and CAD, Odessa State Academy of Civil Engineering and Architecture, Ukraine. <u>Reviewers</u>: (1) Choonkil Park, Hanyang University, Republic of Korea. (2) Piyush Shroff, Texas State University, USA. (3) Francisco Bulnes, Technological Institute of High Studies of Chalco, Chalco, Mexico. Complete Peer review History: http://www.sciencedomain.org/review-history/20423

Original Research Article

Received: 17th July 2017 Accepted: 29th July 2017 Published: 8th August 2017

Abstract

We establish an inequality of a weight coefficient by introducing a parameter λ and using the Euler-Maclaurin expansion. Using this inequality, we derive a reverse of the Hilbert's type inequality. As an applications, an equivalent form is obtained.

Keywords: Hilbert's inequality; weight coefficient; Euler-Maclaurin expansion; reverse.

^{*}Corresponding author: E-mail: xigaowen@163.com;

1 Introduction and Main Result

If p, q > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $a_n \ge 0$, $b_n \ge 0$, and $0 < \sum_{n=1}^{\infty} a_n^p < \infty$, $0 < \sum_{n=1}^{\infty} b_n^q < \infty$, then

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{m+n} < \frac{\pi}{\sin\left(\frac{\pi}{p}\right)} \left\{ \sum_{n=1}^{\infty} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} b_n^q \right\}^{\frac{1}{q}},\tag{1.1}$$

and

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m,n\}} < pq \left\{ \sum_{n=1}^{\infty} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} b_n^q \right\}^{\frac{1}{q}},$$
(1.2)

where the constant $\frac{\pi}{\sin \frac{\pi}{p}}$ and pq is best possible for each inequality respectively. Inequality (1.1) is Hardy-Hilbert's inequality. Inequality (1.2) is a Hilbert's type inequality [1].

In [2], Yang gave a reinforcement of inequality (1.1):

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{m^2 + n^2} < \frac{\pi}{2} \left\{ \sum_{n=1}^{\infty} \frac{1}{n} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} \frac{1}{n} b_n^q \right\}^{\frac{1}{q}},$$
(1.3)

In [3], [4] and [5], Krnic, Pecaric and Yang gave some generalization and reinforcement of inequality (1.1). In [6], Kuang and Debnath gave a reinforcement of inequality (1.2):

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m,n\}} < \left\{ \sum_{n=1}^{\infty} [pq - G(p,n)] a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} [pq - G(q,n)] b_n^q \right\}^{\frac{1}{q}},$$
(1.4)
$$G(r,n) = \frac{r + \frac{1}{3r} - \frac{4}{3}}{2} > 0 \ (r = p,q).$$

where $G(r,n) = \frac{r + \frac{1}{3r} - \frac{4}{3}}{(2n+1)^{\frac{1}{r}}} > 0 \ (r = p,q).$

In [7] and [8], Xi gave a generalization and reinforcement of inequalities (1.2) and (1.4):

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^{\lambda}, n^{\lambda}\}} < \left\{ \sum_{n=1}^{\infty} \left[\kappa\left(\lambda\right) - \frac{1}{3qn^{\frac{q+\lambda-2}{q}}} \right] n^{1-\lambda} a_n^p \right\}^{\frac{1}{p}} \\ \times \left\{ \sum_{n=1}^{\infty} \left[\kappa\left(\lambda\right) - \frac{1}{3pn^{\frac{p+\lambda-2}{p}}} \right] n^{1-\lambda} b_n^q \right\}^{\frac{1}{q}}, \quad (1.5)$$

where $\kappa(\lambda) = \frac{p q \lambda}{(p+\lambda-2)(q+\lambda-2)} > 0, \ 2 - \min\{p,q\} < \lambda \le 2.$

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^{\lambda} + A, n^{\lambda} + B\}} < \left\{ \sum_{n=1}^{\infty} \left[\kappa(\lambda) - \frac{1}{n^{\frac{q+\lambda-2}{q}}} \left(\frac{1}{3q} - \frac{B}{1+B} \right) \right] n^{1-\lambda} a_n^p \right\}^{\frac{1}{p}} \\ \times \left\{ \sum_{n=1}^{\infty} \left[\kappa(\lambda) - \frac{1}{n^{\frac{p+\lambda-2}{p}}} \left(\frac{1}{3p} - \frac{A}{1+A} \right) \right] n^{1-\lambda} b_n^q \right\}^{\frac{1}{q}}, \quad (1.6)$$

For the reverse Hardy-Hilbert's inequality, Yang [9] gave a reverse form of inequalities (1.3). In [10] , Xi and Wang gave a reverse Hilbert's type inequality:

Xi and Zhang; ARJOM, 5(4): 1-7, 2017; Article no.ARJOM.35514

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^2, n^2\}} > 2 \left[\sum_{n=1}^{\infty} \left(1 - \frac{1}{2n} \right) \frac{1}{n} a_n^p \right]^{\frac{1}{p}} \left[\sum_{n=1}^{\infty} \frac{1}{n} b_n^q \right]^{\frac{1}{q}}.$$
 (1.7)

In this paper, by introducing a parameter λ and using the Euler-Maclaurin expansion, we establish an inequality of a weight coefficient. Using this inequality, we derive a reverse of the Hilbert's type inequality (1.5) and a generalization of inequalities (1.7). The main result of this paper is the following inequality.

Theorem 1. If $0 , <math>\frac{1}{p} + \frac{1}{q} = 1$, $\lambda > 1$, $a_n \ge 0$, $b_n \ge 0$ and $0 < \sum_{n=1}^{\infty} a_n^p < \infty$, $0 < \sum_{n=1}^{\infty} \frac{1}{n} b_n^q < \infty$, then

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^{\lambda}, n^{\lambda}\}} > \frac{\lambda}{\lambda - 1} \left\{ \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda - 1)(\lambda + 2)}{4\lambda n} \right] \frac{a_n^p}{n^{\lambda - 1}} \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} \frac{b_n^p}{n^{\lambda - 1}} \right\}^{\frac{1}{q}}.$$
 (1.8)

Before we give the proof of the theorem, we need the following expression of the Euler-Maclaurin (see [11])

$$\sum_{k=n+1}^{m} f(k) = \int_{n}^{m} f(x)dx + \frac{1}{2}[f(m) - f(n)] + \int_{n}^{m} P_{1}(x)f'(x)dx,$$
(1.9)

where $f(x) \in C^1[0, \infty), m, n \in N_0(m > n), N_0$ is the set of non-negative integers, $P_i(x)(i = 1, 2, \cdots)$ are Bernoulli function $(P_1(x) = x - [x] - \frac{1}{2})$. When $\sum_{k=n}^{\infty} f(k), \int_n^{\infty} f(x) dx$ are convergences, we have

$$\sum_{k=n}^{\infty} f(k) = \int_{n}^{\infty} f(x)dx + \frac{1}{2}f(n) + \int_{n}^{\infty} P_{1}(x)f'(x)dx, \qquad (1.10)$$

and (see [9])

$$\int_{n}^{\infty} P_{1}(x)g(x)dx = -\frac{1}{8}g(n)\varepsilon(0 < \varepsilon < 1), \qquad (1.11)$$

where $g(x) \in C^1[0, \infty), g'(x) < 0 \text{ (or } g'(x) > 0), x \in [n, \infty), g(\infty) = 0.$

2 A Lemma

Lemma 1. Let N be the set of positive integers. The weight coefficient $\omega(n)$ is defined by

$$\omega(n,\lambda) = \sum_{k=1}^\infty \frac{1}{max\{k^\lambda,n^\lambda\}}, \qquad n\in N, \lambda>1.$$

Then we have

$$\frac{\lambda}{(\lambda-1)n^{\lambda-1}} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n} \right] < \omega(n,\lambda) < \frac{\lambda}{(\lambda-1)n^{\lambda-1}}.$$
(2.1)

Proof. If $n \in N$, let $f(x) = \frac{1}{\max\{x^{\lambda}, n^{\lambda}\}}$, $x \in [0, \infty)$, we have

$$f(x) = \frac{1}{\max\{x^{\lambda}, n^{\lambda}\}} = \begin{cases} \frac{1}{n^{\lambda}}, & x < n, \\ \\ \frac{1}{x^{\lambda}}, & x \ge n, \end{cases}$$

and

$$f'(x) = \begin{cases} 0, & x < n, \\ \\ -\frac{\lambda}{x^{\lambda+1}}, & x \ge n. \end{cases}$$

3

By (1.10), we obtain

$$\begin{split} \omega(n,\lambda) &= \int_{1}^{\infty} f(x)dx + \frac{1}{2}f(1) + \int_{1}^{\infty} P_{1}(x)f'(x)dx \\ &= \frac{1}{n^{\lambda-1}} - \frac{1}{n^{\lambda}} + \frac{1}{(\lambda-1)n^{\lambda-1}} + \frac{1}{2n^{\lambda}} - \int_{n}^{\infty} P_{1}(x)\frac{\lambda}{x^{\lambda+1}}dx \end{split}$$

By (1.11), we have

$$-\frac{\lambda}{8n^{\lambda+1}} < \int_n^\infty P_1(x) \frac{\lambda}{x^{\lambda+1}} dx < 0.$$

Since we find

$$\frac{\lambda}{(\lambda-1)n^{\lambda-1}} - \frac{1}{2n^{\lambda}} - \frac{\lambda}{8n^{\lambda+1}} < \omega(n,\lambda) < \frac{\lambda}{(\lambda-1)n^{\lambda-1}} - \frac{1}{2n^{\lambda}},$$
$$\frac{\lambda}{(\lambda-1)n^{\lambda-1}} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n} \right] < \omega(n,\lambda) < \frac{\lambda}{(\lambda-1)n^{\lambda-1}}.$$

Then we have (2.1). The lemma is proved.

3 The Proof and Application of Theorem

In this section, we use (2.1) to prove Theorem 1. As applications, an equivalent form is obtained.

Proof. By the reverse Hölder 's inequality [12], we have

$$\begin{split} &\sum_{n=1}^{\infty}\sum_{m=1}^{\infty}\frac{a_mb_n}{\max\{m^{\lambda},n^{\lambda}\}} = \sum_{n=1}^{\infty}\sum_{m=1}^{\infty}\left[\frac{a_m}{(\max\{m^{\lambda},n^{\lambda}\})^{\frac{1}{p}}}\right] \left[\frac{b_n}{(\max\{m^{\lambda},n^{\lambda}\})^{\frac{1}{q}}}\right] \\ &\geq \left\{\sum_{n=1}^{\infty}\sum_{m=1}^{\infty}\left[\frac{a_m^p}{\max\{m^{\lambda},n^{\lambda}\}}\right]\right\}^{\frac{1}{p}} \left\{\sum_{n=1}^{\infty}\sum_{m=1}^{\infty}\left[\frac{b_n^q}{\max\{m^{\lambda},n^{\lambda}\}}\right]\right\}^{\frac{1}{q}} \\ &= \left\{\sum_{m=1}^{\infty}\omega(m,\lambda)a_m^p\right\}^{\frac{1}{p}} \left\{\sum_{n=1}^{\infty}\omega(n,\lambda)b_n^q\right\}^{\frac{1}{q}}. \end{split}$$

Since 0 and <math>q < 0, remove by (2.1), we obtain (1.8). Theorem 1 is proved.

Theorem 2. If
$$0 , $\frac{1}{p} + \frac{1}{q} = 1$, $\lambda > 1$, $a_n \ge 0$, $b_n \ge 0$ and $0 < \sum_{n=1}^{\infty} \frac{a_n^p}{n^{\lambda-1}} < \infty$, then

$$\sum_{n=1}^{\infty} \left(\frac{1}{n^{\lambda-1}}\right)^{1-p} \left[\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}}\right]^p > \left(\frac{\lambda}{\lambda-1}\right)^p \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n}\right] \frac{a_n^p}{n^{\lambda-1}}.$$
(3.1)$$

Inequalities (3.1) and (1.8) are equivalent.

Proof. Let

$$b_n = \left(\frac{1}{n^{\lambda-1}}\right)^{1-p} \left[\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}}\right]^{p-1}, \qquad n \in N.$$

By (1.8), we have

$$\begin{split} \left\{ \sum_{n=1}^{\infty} \frac{b_n^q}{n^{\lambda-1}} \right\}^p &= \left\{ \sum_{n=1}^{\infty} \left(\frac{1}{n^{\lambda-1}} \right)^{1-p} \left(\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}} \right)^p \right\}^p \\ &= \left\{ \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^{\lambda}, n^{\lambda}\}} \right\}^p \\ &\geq \left(\frac{\lambda}{\lambda-1} \right)^p \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n} \right] \frac{a_n^p}{n^{\lambda-1}} \left\{ \sum_{n=1}^{\infty} \frac{b_n^q}{n^{\lambda-1}} \right\}^{p-1}. \end{split}$$

Then we obtain

$$\sum_{n=1}^{\infty} \frac{b_n^q}{n^{\lambda-1}} = \sum_{n=1}^{\infty} \left(\frac{1}{n^{\lambda-1}}\right)^{1-p} \left[\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}}\right]^p$$
$$\geq \left(\frac{\lambda}{\lambda-1}\right)^p \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n}\right] \frac{a_n^p}{n^{\lambda-1}}.$$
(3.2)

If $\sum_{n=1}^{\infty} \frac{b_n^q}{n^{\lambda-1}} = \infty$, then in view of

$$0 < \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n} \right] \frac{a_n^p}{n^{\lambda-1}} \le \sum_{n=1}^{\infty} \frac{a_n^p}{n^{\lambda-1}} < \infty$$

and (4.1), we have

$$\sum_{n=1}^{\infty} \left(\frac{1}{n^{\lambda-1}}\right)^{1-p} \left[\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}}\right]^p > \left(\frac{\lambda}{\lambda-1}\right)^p \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n}\right] \frac{a_n^p}{n^{\lambda-1}};$$

if $0 < \sum_{n=1}^{\infty} \frac{b_n^q}{n^{\lambda-1}} < \infty$, then by (1.8), we find

$$\sum_{n=1}^{\infty} \left(\frac{1}{n^{\lambda-1}}\right)^{1-p} \left[\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}}\right]^p > \left(\frac{\lambda}{\lambda-1}\right)^p \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda-1)(\lambda+2)}{4\lambda n}\right] \frac{a_n^p}{n^{\lambda-1}}.$$

Hence we obtain (3.1).

On the other-hand, by the reverse Hölder 's inequality [12], we have

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^{\lambda}, n^{\lambda}\}} = \sum_{n=1}^{\infty} \left[\left(\frac{1}{n^{\lambda-1}}\right)^{-\frac{1}{q}} \sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}} \right] \left[\left(\frac{1}{n^{\lambda-1}}\right)^{\frac{1}{q}} b_n \right]$$
$$\geq \left[\sum_{n=1}^{\infty} \left(\frac{1}{n^{\lambda-1}}\right)^{1-p} \left(\sum_{m=1}^{\infty} \frac{a_m}{\max\{m^{\lambda}, n^{\lambda}\}} \right)^p \right]^{\frac{1}{p}} \left[\sum_{n=1}^{\infty} \frac{b_n^q}{n^{\lambda-1}} \right]^{\frac{1}{q}}.$$

From (3.1), it follows that

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^{\lambda}, n^{\lambda}\}} > \frac{\lambda}{\lambda - 1} \left\{ \sum_{n=1}^{\infty} \left[1 - \frac{(\lambda - 1)(\lambda + 2)}{4\lambda n} \right] \frac{a_n^p}{n^{\lambda - 1}} \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} \frac{b_n^p}{n^{\lambda - 1}} \right\}^{\frac{1}{q}}.$$

Then, (3.1) and (1.8) are equivalent. Theorem 2 is proved.

4 Conclusion

Inequality (1.2) is Hilberts type inequality, and is important in analysis and its application. Kuang gave a strengthened version of (1.2); Yang considered a refinement of another Hilberts type inequality. For the reverse Hardy-Hilbert's inequality, Yang gave a reverse form of inequalities. Xi and Wang gave a reverse Hilbert's type inequality:

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m^2, n^2\}} > 2 \left[\sum_{n=1}^{\infty} \left(1 - \frac{1}{2n} \right) \frac{1}{n} a_n^p \right]^{\frac{1}{p}} \left[\sum_{n=1}^{\infty} \frac{1}{n} b_n^q \right]^{\frac{1}{q}}.$$
 (4.1)

By introducing a parameter λ and using the Euler-Maclaurin expansion, we establish an inequality of a weight coefficient. Using this inequality, we derive a reverse of the Hilbert's type inequality and is a generalization of inequalities (4.1).

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Hardy GH, Littlewood JE, Polya G. Inequalities. Cambridge Univ. Press; 1934.
- Yang B. On an extension of Hardy-Hilbert's inequality with a parameter. Mathematics In Practice and Theory. 2006;36(4):226-231.
- [3] Krnic M, Pecaric J. General Hilbert's and Hardy's Inequalities. Math. Inequal. Appl. 2005;8(1):29-51.
- Yang B. On best extensions of Hardy-Hilbert's inequality with two parameters. J. Inequal. Pure Appl. Math. 2005;6(3):Article 81.
- [5] Yang B. A new Hilbert-type inequality. Bull. Belg. Math. Soc. 2006;13:479-487.
- Kuang J, Debnath L. On new generalizations of Hilbert's inequality and their applications. J. Math. Anal. Appl. 2000;245:248-265.
- [7] Xi G. On generalizations and reinforcements of a Hilbert's type inequality. Rocky Mountain J. Mathematics. 2012;42(1):329-337.
- [8] Xi G. A generalization of the Hilbert's type inequality. Mathematical Inequalities & Applications. 2015;18(4):1501-1510.
- [9] Yang B. A reverse of the Hardy-Hilbert's type inequality. Mathematics In Practice and Theory. 2006;36(11):207-212.
- [10] Xi G, Xi Y, Wang L. A reverse Hilbert's type inequality. Applied Mechanics and Materials. 2015;701-702:106-109.

- [11] Yang B, Zhu J. Inequality on the Hurwitz Zeta-function restricted to the axis of positive reals. Acta Scientiarum Naturalium Universitatis Sunyatseni. 1997;36(2):30-35.
- [12] Kuang J. Applied Inequalities. Sandong Science and Technology Press, Jinan; 2004.

© 2017 Xi and Zhang; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar) http://sciencedomain.org/review-history/20423